Honors Math I
Chapter 5 Review

Keu
s

Period

Write a polynomial function of least degree that has rational coefficients, a leading coefficient of 1 and the -

given zeros.
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Divide using long division.
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Divide using synthetic division.
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Factor completely.
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Write the end behavior for the polynomial function.
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Decide whether the function is a polynomial function. If so, state its degree, type (constant, linear, guadratic

etc.), and leading coefficient.
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Perform the indicated operation.
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39. Write a cubic function whose graph passes through the points.
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